ARNTEREFSREHFEHT - AOKEFR

TR27FE9A KRB
TR 27498 XKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 27,963 35,470 37,980 73,450 BAAERAAQD 27,898 35,432 37,913 73,345
SNEAERAO 194 241 235 476 SNEAERAO 195 241 238 479
KENMAB 28,157 35,711 38,215 73,926 KENHAB 28,093 35,673 38,151 73,824
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,095 1,436 1,390 2,826 B — Al =2 247 305 323 628 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 802 886 917 1,803 o . ¥ /N 125 155 174 329 HWmE—TH 803 879 995 1,874 wu&aE—THB 85 114 114 228
2 T 75 Hh 35 AKHET T 203 202 232 434 =H 114 148 162 310 WEZTH 558 649 736 1,385 WUE=TH 0 0
ZA T B Hh 3 N 875 964 1,047 2,011 A T S B 67 86 97 183 WE=TH 265 320 367 687 WILE=TH 0 0
TR s TR 1,050 1,243 1,404 2,647 K 211 256 255 511 WEMTH 206 254 289 543 WILEMTHB 0 0
T/ E i H/E 478 559 602 1,161 EEFE 18 27 27 54 WEATH 764 1,000 1,117 2,117 BWILERTHB 34 48 55 103
K2 A EELW 198 218 275 493 FAFTET 175 177 215 392 FENARTH 87 114 120 234 WILEARTE 112 158 158 316
ma 105 146 151 297 T Hh i FhTET 129 147 159 306 W&EtTH 188 237 263 500 wWLUEtTH 348 507 516 1,023
T 3 Hh 32k iR 256 310 357 667 At FET 133 169 155 324 HES—TH 0 wWILE/NTB 0 0
AR s ZAR 1L 93 101 136 237 Fa ET 176 223 260 483 HEEZTH 234 319 321 640 WILEATE 0 0
KE 860 1,002 1,021 2,023 il 17 25 30 55 HEEB=TH 8 10 9 19 wua+TE 151 222 225 447
At 2 [ #hig dzE 469 515 532 1,047 T th s FrET 36 32 43 75 HEEMTH 0 WL&e+—T8H 90 141 148 289
ot B st i 164 186 193 379 BRHET 100 114 122 236 HESRTH 300 357 412 769 BWuE+=TH 0 0
iz i 192 215 233 448 % 88 88 121 209 HEBARTH 176 214 251 465 BWUE+=TH 25 33 30 63
4 this He 2,871 3,453 3,887 7,340 RifiFE 140 149 188 337 HEELTH 351 397 454 851 INEt 845 1,223 1,246 2,469
HZE A Hhis HES 1,751 2,090 2,335 4,425 AR o ERE—TH 51 57 70 127 HES/NTH 387 485 526 1,011 =1 12,215 16,644 17,584 34,228
BEAZ)I& g AE)IE1~4TH 792 981 1,078 2,059 BRE-TH 291 336 358 694 MEABNTHE 295 308 362 670
a2 & Ki2)I185~9T B 1,487 2,297 2,332 4,629 EREE=TH 49 68 79 147 KZEJNE—TH 345 418 457 875
W B & Hhis MWERE 2,224 3,279 3,332 6,611 il 65 61 72 133 KEZJNEZTH 98 120 134 254
XA iz \ES 2,245 3,321 3,374 6,695 ek 36 25 39 64 KEINEBZ=ZTHE 349 443 487 930
LA Hh i wIlE 845 1,223 1,246 2,469 it 40 53 57 110 KZJNEMTH 0
=11 19,055 24,627 26,074 50,701 hnyE R ER iz INGE 58 56 60 116 KENEBEETHE 243 405 391 796
INST 72 69 76 145 KZNEBATHE 549 789 793 1,582 (FH)
AARAERHE- A O£ (IHILEE) §4 5 76 79 99 178 R2NEETH 329 498 518 1016 X5 s 4 5 % i
(LI EH 27 37 40 77 KENEBE/NTBE 366 605 630 1,235 mmEae—TH 162 202 208 410
1T I 4 BRI L 5 = &t HERE 102 104 115 219 KEINEATHE 0 mmE&e=TH 141 154 173 327
5 F st tisE 179 245 288 533 fit] W} 116 140 148 288 MWREE—TH 499 758 720 1,478 EMEXE=TH 139 150 177 327
[Fap il 411 569 602 1,171 TR 98 109 141 250 MREEZTH 121 196 186 382 AmEemTH 115 129 146 275
A6 3 B #thig FEE 405 575 584 1,159 [i] 45 52 56 108 MEE=TH 244 350 387 737 EMXEETH 54 62 60 122
T E i MTE 661 878 908 1,786 HRIR Hhig H 33 38 39 77 MREMTH 248 345 365 710 mAMmXEaNTH 165 187 211 398
HEF 56 56 84 140 BRI 66 70 84 154 MWRERTH 262 388 396 784 mmEaetTH 155 178 207 385
=58 deiAT R 135 176 185 361 IhEF 72 82 97 179 MWMEENRTH 354 504 504 1,008 mmxa/\TH 188 218 245 463
B 232 344 377 721 mp 38 46 53 99 MWREETH 274 437 443 880 mAMXaEATH 187 210 234 444
e 45 44 70 114 L3 G 36 39 45 84 MWRE/NTH 222 301 331 632 mmEae+THE 181 210 226 436
+A1 53 74 90 164 b=pie) 35 39 45 84 wmEE—TH 259 306 313 619 mmEse+—TH 253 300 303 603
EI\2 129 154 202 356 B/ 12 15 18 33 BEE-TH 364 543 534 1,077 mEmnEe+=TH 213 273 271 544
IRt &R i £33 75 104 121 225 N 5 5 4 9 BEXE=TH 355 548 582 1,130 mmEae+=TH 153 184 199 383
tiRa 53 65 74 139 7/ 31 4 44 85 HwEEMTH 290 432 465 897 mmEs+mTH 120 151 177 328
a5 98 142 139 281 BTF 21 28 28 56 BEERTH 373 582 598 1,180 mAnEae+aETH 140 182 170 352
tiae 155 180 207 387 4 2 ik ETF 16 17 21 38 BESNATH 323 570 547 1,117 =Ll 2,366 2,790 3,007 5,797
+IR7 66 90 79 169 e 10 14 11 25 HwXEELtTH 281 340 335 675
LRt ithig +IA8 94 120 118 238 =S 8 6 9 15 wmEE/NTH 0 0
ti¥a9 114 138 150 288 i35 6 6 5 11 INET 11,370 15,421 16,338 31,759
ti\E10 89 102 129 231 K4 15 12 17 29
WEXN 28 28 29 57 it 32 43 52 95
= REX S 5 5 6 11 [R5 48 58 74 132
LR 73 58 70 128 FIN% & g Emxs 2,366 2,790 3,007 5,797
=11 3,156 4147 4512 8,659 =1l 5,752 6,696 7,394 14,090




